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2 0 2

2

0

2

data

2.4 3.2 4.0 4.8
mag

2 0 2

model

3.0 4.5 6.0
mag

2 0 2

residuals

4.5 3.0 1.5 0.0
mag

Fiber 4349, dchi2frac= 0.9, EXCLUDED



2 0 2

2

0

2

data

1.5 3.0 4.5 6.0
mag

2 0 2

model

1.5 3.0 4.5 6.0
mag

2 0 2

residuals

0.6 0.4 0.2 0.0
mag

Fiber 1564, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

0.2 0.0 0.2
mag

Fiber 1958, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4
mag

2 0 2

model

2 4 6
mag

2 0 2

residuals

4 2 0
mag

Fiber 2578, dchi2frac= 0.7, EXCLUDED



2 0 2

2

0

2

data

4 5 6 7
mag

2 0 2

model

4 5 6
mag

2 0 2

residuals

0.6 0.0 0.6
mag

Fiber 4207, dchi2frac= 1.0



2 0 2

2

0

2

data

0.0 1.5 3.0
mag

2 0 2

model

0.0 1.5 3.0
mag

2 0 2

residuals

0.2 0.1 0.0 0.1
mag

Fiber 1693, dchi2frac= 1.0



2 0 2

2

0

2

data

0 1 2
mag

2 0 2

model

0 1 2
mag

2 0 2

residuals

0.2 0.1 0.0 0.1
mag

Fiber 1706, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5 6.0
mag

2 0 2

model

1.5 3.0 4.5 6.0
mag

2 0 2

residuals

0.1 0.0 0.1
mag

Fiber 13, dchi2frac= 1.0



2 0 2

2

0

2

data

3.0 1.5 0.0
mag

2 0 2

model

3.0 1.5 0.0
mag

2 0 2

residuals

0.15 0.00 0.15
mag

Fiber 2908, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3
mag

2 0 2

model

0.8 1.6 2.4 3.2
mag

2 0 2

residuals

0.15 0.00 0.15
mag

Fiber 147, dchi2frac= 1.0



2 0 2

2

0

2

data

0.0 1.5 3.0
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

0.3 0.0 0.3
mag

Fiber 215, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5 6.0
mag

2 0 2

residuals

0.9 0.6 0.3 0.0
mag

Fiber 3173, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0
mag

2 0 2

model

2.4 3.2 4.0
mag

2 0 2

residuals

1.6 0.8 0.0
mag

Fiber 4180, dchi2frac= 0.9, EXCLUDED



2 0 2

2

0

2

data

1.6 2.4 3.2
mag

2 0 2

model

1.6 2.4 3.2
mag

2 0 2

residuals

0.16 0.08 0.00 0.08
mag

Fiber 2640, dchi2frac= 1.0



2 0 2

2

0

2

data

1.2 1.8 2.4 3.0
mag

2 0 2

model

1.6 2.4 3.2
mag

2 0 2

residuals

0.15 0.00 0.15
mag

Fiber 648, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 0.0 1.5 3.0
mag

2 0 2

model

1.5 0.0 1.5 3.0
mag

2 0 2

residuals

0.2 0.1 0.0 0.1
mag

Fiber 2761, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5 6.0
mag

2 0 2

residuals

0.4 0.2 0.0
mag

Fiber 1548, dchi2frac= 1.0



2 0 2

2

0

2

data

0.0 0.6 1.2 1.8
mag

2 0 2

model

0.6 1.2 1.8
mag

2 0 2

residuals

0.1 0.0 0.1
mag

Fiber 2820, dchi2frac= 1.0



2 0 2

2

0

2

data

0.0 0.8 1.6 2.4
mag

2 0 2

model

0.0 0.8 1.6 2.4
mag

2 0 2

residuals

0.08 0.00 0.08
mag

Fiber 2530, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

1.0 0.5 0.0
mag

Fiber 2895, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

2 4 6
mag

2 0 2

residuals

1.5 1.0 0.5 0.0
mag

Fiber 3110, dchi2frac= 1.0



2 0 2

2

0

2

data

0.8 1.6 2.4 3.2
mag

2 0 2

model

1 2 3 4
mag

2 0 2

residuals

0.4 0.2 0.0
mag

Fiber 4983, dchi2frac= 1.0



2 0 2

2

0

2

data

1.2 1.8 2.4 3.0
mag

2 0 2

model

1.2 1.8 2.4
mag

2 0 2

residuals

0.1 0.0 0.1 0.2
mag

Fiber 2770, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4
mag

2 0 2

model

1 2 3 4
mag

2 0 2

residuals

0.50 0.25 0.00
mag

Fiber 750, dchi2frac= 1.0



2 0 2

2

0

2

data

0.8 0.0 0.8 1.6
mag

2 0 2

model

0.8 0.0 0.8 1.6
mag

2 0 2

residuals

0.15 0.00 0.15
mag

Fiber 2522, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

0.15 0.00 0.15
mag

Fiber 687, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3
mag

2 0 2

model

0.8 1.6 2.4 3.2
mag

2 0 2

residuals

0.1 0.0 0.1
mag

Fiber 1924, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

0.75 0.50 0.250.00
mag

Fiber 2601, dchi2frac= 1.0



2 0 2

2

0

2

data

0.0 1.5 3.0
mag

2 0 2

model

0.0 1.5 3.0 4.5
mag

2 0 2

residuals

0.4 0.2 0.0 0.2
mag

Fiber 253, dchi2frac= 1.0



2 0 2

2

0

2

data

0.8 1.6 2.4
mag

2 0 2

model

0.8 1.6 2.4
mag

2 0 2

residuals

0.30 0.15 0.00
mag

Fiber 52, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

2 4 6 8
mag

2 0 2

residuals

3 2 1 0
mag

Fiber 2550, dchi2frac= 1.0



2 0 2

2

0

2

data

0.8 1.6 2.4 3.2
mag

2 0 2

model

1 2 3
mag

2 0 2

residuals

0.15 0.00 0.15
mag

Fiber 3690, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0
mag

2 0 2

model

2 3 4 5
mag

2 0 2

residuals

2.4 1.6 0.8 0.0
mag

Fiber 785, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

0.00 0.15 0.30
mag

Fiber 858, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3
mag

2 0 2

model

1 2 3 4
mag

2 0 2

residuals

0.30 0.15 0.00 0.15
mag

Fiber 3976, dchi2frac= 1.0



2 0 2

2

0

2

data

0.0 1.5 3.0
mag

2 0 2

model

0.0 1.5 3.0
mag

2 0 2

residuals

0.4 0.2 0.0
mag

Fiber 2827, dchi2frac= 1.0



2 0 2

2

0

2

data

0.8 1.6 2.4 3.2
mag

2 0 2

model

0.8 1.6 2.4 3.2
mag

2 0 2

residuals

0.2 0.1 0.0
mag

Fiber 1529, dchi2frac= 1.0



2 0 2

2

0

2

data

2 4 6
mag

2 0 2

model

1.6 2.4 3.2 4.0
mag

2 0 2

residuals

0.0 0.8 1.6 2.4
mag

Fiber 774, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5 6.0
mag

2 0 2

residuals

0.8 0.4 0.0
mag

Fiber 4916, dchi2frac= 1.0



2 0 2

2

0

2

data

2 4 6
mag

2 0 2

model

1.5 3.0 4.5 6.0
mag

2 0 2

residuals

1 0 1
mag

Fiber 1946, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

0.15 0.00 0.15
mag

Fiber 3384, dchi2frac= 1.0



2 0 2

2

0

2

data

0.0 1.5 3.0
mag

2 0 2

model

0.0 1.5 3.0
mag

2 0 2

residuals

0.15 0.00 0.15
mag

Fiber 4666, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4
mag

2 0 2

model

1.6 2.4 3.2 4.0
mag

2 0 2

residuals

0.15 0.00 0.15 0.30
mag

Fiber 4573, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

0.15 0.00 0.15
mag

Fiber 4640, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

2 4 6
mag

2 0 2

residuals

0.50 0.25 0.00
mag

Fiber 3399, dchi2frac= 1.0



2 0 2

2

0

2

data

0.0 1.5 3.0
mag

2 0 2

model

0.0 1.5 3.0
mag

2 0 2

residuals

0.15 0.00 0.15 0.30
mag

Fiber 76, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5 6.0
mag

2 0 2

model

1 2 3 4
mag

2 0 2

residuals

0.0 0.4 0.8 1.2
mag

Fiber 3954, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4
mag

2 0 2

model

1 2 3
mag

2 0 2

residuals

2 1 0 1
mag

Fiber 590, dchi2frac= 0.9



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5 6.0
mag

2 0 2

residuals

0.75 0.50 0.25 0.00
mag

Fiber 395, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1 2 3 4
mag

2 0 2

residuals

0.2 0.0 0.2
mag

Fiber 1688, dchi2frac= 1.0



2 0 2

2

0

2

data

1.6 2.4 3.2
mag

2 0 2

model

1 2 3 4
mag

2 0 2

residuals

0.30 0.15 0.00
mag

Fiber 4870, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5 6.0
mag

2 0 2

model

2 4 6
mag

2 0 2

residuals

0.8 0.4 0.0
mag

Fiber 916, dchi2frac= 1.0



2 0 2

2

0

2

data

2 4 6
mag

2 0 2

model

1 2 3 4
mag

2 0 2

residuals

0.0 0.8 1.6
mag

Fiber 3733, dchi2frac= 1.0



2 0 2

2

0

2

data

1.2 1.8 2.4 3.0
mag

2 0 2

model

1.2 1.8 2.4 3.0
mag

2 0 2

residuals

0.08 0.00 0.08 0.16
mag

Fiber 3807, dchi2frac= 1.0



2 0 2

2

0

2

data

0.8 1.6 2.4
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

2.4 1.6 0.8 0.0
mag

Fiber 3942, dchi2frac= 1.0



2 0 2

2

0

2

data

1.6 2.4 3.2
mag

2 0 2

model

1 2 3 4
mag

2 0 2

residuals

0.3 0.2 0.1 0.0
mag

Fiber 2844, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4
mag

2 0 2

model

1.5 3.0 4.5 6.0
mag

2 0 2

residuals

2.4 1.6 0.8 0.0
mag

Fiber 496, dchi2frac= 0.9, EXCLUDED



2 0 2

2

0

2

data

0 1 2
mag

2 0 2

model

0 1 2
mag

2 0 2

residuals

0.00 0.15 0.30
mag

Fiber 902, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

0.30 0.15 0.00
mag

Fiber 3645, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

1.2 0.6 0.0
mag

Fiber 989, dchi2frac= 0.9, EXCLUDED



2 0 2

2

0

2

data

1 2 3 4
mag

2 0 2

model

1 2 3
mag

2 0 2

residuals

0.4 0.2 0.0
mag

Fiber 3795, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

0.1 0.0 0.1 0.2
mag

Fiber 1560, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

0.4 0.2 0.0
mag

Fiber 3889, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

0.25 0.00 0.25
mag

Fiber 3363, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5 6.0
mag

2 0 2

model

1.5 3.0 4.5 6.0
mag

2 0 2

residuals

0.0 0.4 0.8
mag

Fiber 3747, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

0.0 0.2 0.4
mag

Fiber 3431, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

2 4 6
mag

2 0 2

residuals

1.5 1.0 0.5 0.0
mag

Fiber 4567, dchi2frac= 1.0



2 0 2

2

0

2

data

1.2 1.6 2.0 2.4
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

2.4 1.6 0.8 0.0
mag

Fiber 2541, dchi2frac= 0.9



2 0 2

2

0

2

data

0.0 1.5 3.0
mag

2 0 2

model

0.0 1.5 3.0
mag

2 0 2

residuals

0.24 0.16 0.08 0.00
mag

Fiber 2834, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

0.2 0.0 0.2
mag

Fiber 2940, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3
mag

2 0 2

model

1 2 3
mag

2 0 2

residuals

0.2 0.0 0.2
mag

Fiber 3477, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

1.2 0.8 0.4 0.0
mag

Fiber 2856, dchi2frac= 1.0



2 0 2

2

0

2

data

1.2 0.6 0.0 0.6
mag

2 0 2

model

1.2 0.6 0.0 0.6
mag

2 0 2

residuals

0.05 0.00 0.05
mag

Fiber 290, dchi2frac= 1.0



2 0 2

2

0

2

data

1.2 1.8 2.4
mag

2 0 2

model

1.6 2.4 3.2
mag

2 0 2

residuals

0.4 0.2 0.0
mag

Fiber 1995, dchi2frac= 1.0



2 0 2

2

0

2

data

2 4 6 8
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

0.0 1.5 3.0
mag

Fiber 3317, dchi2frac= 1.0



2 0 2

2

0

2

data

0.0 0.8 1.6
mag

2 0 2

model

0 2 4
mag

2 0 2

residuals

4.5 3.0 1.5 0.0
mag

Fiber 4245, dchi2frac= 0.9



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

0.0 0.5 1.0 1.5
mag

Fiber 4531, dchi2frac= 1.0



2 0 2

2

0

2

data

0.8 1.6 2.4 3.2
mag

2 0 2

model

0.8 1.6 2.4 3.2
mag

2 0 2

residuals

0.1 0.0 0.1 0.2
mag

Fiber 24, dchi2frac= 1.0



2 0 2

2

0

2

data

0.0 1.5 3.0
mag

2 0 2

model

0.0 1.5 3.0
mag

2 0 2

residuals

0.15 0.00 0.15
mag

Fiber 149, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

1.0 0.5 0.0
mag

Fiber 46, dchi2frac= 1.0



2 0 2

2

0

2

data

0.6 1.2 1.8 2.4
mag

2 0 2

model

1 2 3
mag

2 0 2

residuals

1.2 0.8 0.4 0.0
mag

Fiber 516, dchi2frac= 1.0



2 0 2

2

0

2

data

0.0 1.5 3.0
mag

2 0 2

model

0 1 2 3
mag

2 0 2

residuals

0.15 0.00 0.15
mag

Fiber 341, dchi2frac= 1.0



2 0 2

2

0

2

data

1.2 1.8 2.4 3.0
mag

2 0 2

model

1.6 2.4 3.2
mag

2 0 2

residuals

0.4 0.2 0.0 0.2
mag

Fiber 3562, dchi2frac= 1.0



2 0 2

2

0

2

data

0 1 2 3
mag

2 0 2

model

0 1 2 3
mag

2 0 2

residuals

0.00 0.15 0.30
mag

Fiber 2646, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

0.8 0.4 0.0
mag

Fiber 2921, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4
mag

2 0 2

model

1 2 3 4
mag

2 0 2

residuals

0.2 0.0 0.2
mag

Fiber 298, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1 2 3
mag

2 0 2

residuals

0.00 0.25 0.50
mag

Fiber 3246, dchi2frac= 1.0



2 0 2

2

0

2

data

1.6 2.4 3.2
mag

2 0 2

model

1.2 1.8 2.4 3.0
mag

2 0 2

residuals

0.30 0.15 0.00
mag

Fiber 2785, dchi2frac= 1.0



2 0 2

2

0

2

data

2 4 6 8
mag

2 0 2

model

1 2 3 4
mag

2 0 2

residuals

0 1 2 3
mag

Fiber 3523, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5 6.0
mag

2 0 2

residuals

1.2 0.8 0.4 0.0
mag

Fiber 208, dchi2frac= 1.0



2 0 2

2

0

2

data

0 1 2
mag

2 0 2

model

0 1 2
mag

2 0 2

residuals

0.1 0.0 0.1
mag

Fiber 221, dchi2frac= 1.0



2 0 2

2

0

2

data

1.2 1.8 2.4 3.0
mag

2 0 2

model

1 2 3 4
mag

2 0 2

residuals

1.6 0.8 0.0
mag

Fiber 954, dchi2frac= 0.9



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

0.75 0.50 0.25 0.00
mag

Fiber 413, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

0.50 0.25 0.00
mag

Fiber 872, dchi2frac= 1.0



2 0 2

2

0

2

data

2.5 5.0 7.5 10.0
mag

2 0 2

model

2 4 6
mag

2 0 2

residuals

0 1 2 3
mag

Fiber 3406, dchi2frac= 1.0



2 0 2

2

0

2

data

0.8 1.6 2.4 3.2
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

1.2 0.8 0.4 0.0
mag

Fiber 2570, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 3.0 4.5
mag

2 0 2

model

1.5 3.0 4.5
mag

2 0 2

residuals

0.25 0.00 0.25
mag

Fiber 866, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4
mag

2 0 2

model

1 2 3 4
mag

2 0 2

residuals

0.0 0.2 0.4
mag

Fiber 185, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5
mag

2 0 2

model

1.5 2.0 2.5 3.0
mag

2 0 2

residuals

0.15 0.00 0.15
mag

Fiber 3479, dchi2frac= 1.0


